
Cover Clearance
Positioning the Mounting Brackets 8” down from the top of the Spa shell, will require 
approximately 9” clearance behind the Spa. Mounted at this position, approx 75% of the 
Spa cover will be standing above the Spa surface in the off position.

Positioning the Mounting Brackets 12” down from the top of the Spa shell, will require 
approximately 15” clearance behind the Spa. Mounted at this position, approx 50% of the 
Spa cover will be standing above the Spa surface in the off position. Illustration.

Position the spa cover (in the closed position) on the spa, making sure that all four
corners are properly positioned and square on the spa.

PARTS LIST
DESCRIPTION		             QTY
A.  Pivot Arm  			   2
B.  Cover Support Arm		  2
C.  Center Coupler		  1
D.  Bushing 			   4
E.  Mounting Bracket 		  2
F.  3/8” x 3” Hex Cap Bolt 	 2
G.  3/8” Lock Nut		  2
H.  3/8” Flat Washer		  4
I.  Towel Holder			   1
J.  #10 x 5/8” Self Tapping Screws	 14
K. #10 x 1” Mounting Screws	 20
L.  Large Black Dome Caps	 2
M. Small Black Dome Caps	 38
      7/16” Plug (Pre-installed)	 2
      #10 x 1 3/4” Mounting Screw	 4
      Foam Grips (Pre-installed)	 2
      Pivot Arm Cap (Pre-installed)	 2
Tools Needed: Power/cordless drill with Phillips bit and tape measure.

ONE YEAR WARRANTY

CBP-1 / CBP-2 / TM 15.1 / TM10.1 / PIVOT

ASM Manufacturing LLC warrants this product to be free from defects in
workmanship and material, under normal use and service conditions, for a one-year 
Warranty. 

This warranty extends only to the original purchaser. What we will do to help with 
warranty replacement. We will repair or replace the product subject to receiving 
acceptable photos and or the defective parts shipped to us freight prepaid. Our war-
ranty does not include the return shipping cost of the replacement parts and or a new 
cover lift.

This warranty does not extend to any product or damage to a product caused by or
attributable to freight damage, abuse, misuse, improper or abnormal usage or
Specifically waterlogged spa covers or for commercial, rental purposes and or used as
store display models.

No other warranty beyond that specifically set forth above is authorized and we are not
responsible or liable for indirect, special or consequential damages arising out of or in
connection with the use or performance of the product or damages with respect to any
economic loss, loss of property, loss or revenues or profits, loss of enjoyment or use,
costs of removal, installation or other consequential damages of whatsoever nature.
Some states do not allow the exclusion or limitation of incidental or consequential
damages. Accordingly, the above limitation may not apply to you.

The warranty extended hereunder is in lieu of any and all other warranties and any
implied warranties for a particular purpose is limited in its scope and duration to the
terms set forth herein.

Some states do not allow limitations on how long an implied warranty lasts.
Accordingly, the above limitation may not apply to you. This warranty gives you
specific legal rights. You may also have other rights which vary from state to state.

ASM Manufacturing LLC / Cover Butler
4956 W 6200 S, #312

Kearns, UT  84118
www.coverbutler.com

CBP-1 / CBP-2 
CBP-1 / CBP-2  

TOP PIVOT STYLE COVER LIFTER 
INSTRUCTIONS

02/09/2024



5. Fasten the Cover Support Arms to the Side Pivot Arms and the Coupler.  Be sure to 
rotate the Coupler Bar Pair so that the tapping screws are at a horizontal position with 
the heads facing towards the back of the Spa. Use the #10 x5/8” self-tapping screws (J).

6. Lay the Lifter on the spa cover. Adjust the Center Coupler Assembly and the
Support Arms (B) so that the Center Coupler Assembly is lying parallel to the spa
cover hinge approximately 1/2” away.

7- Fasten the Support Arms (B) to the Pivot Arms (A) and the Center Coupler (C).
Note: Be sure to rotate the Center Couplers so that the inserted screws are horizontal,
with the heads facing toward the back of the spa. Use the #10 x 5/8“ Self Tapping 
Screws (J) 

Before attaching the Right & Left Mounting Brackets (E) to the appropriate side of the 
spa, place the brackets where you will want them positioned on the spa and  mark the 
holes. Mounting brackets should be installed 9” in from outside edge of spa lip edge.

1. Attach the right & left Mounting Brackets to the appropriate side of the Spa. 
Mounting height is your option.Use the #10 x 1 Screws (K).

2. Connect the Pivot Arm (A) and two Bushings (D) to the Mounting Brackets (E), 
using one 3/8” x 3“ Hex Cap Bolt (F), two 3/8” Flat Washers (H), and one 3/8” Nylon 
Locknut (G).REPEAT

3. Insert the long arms of the Support Arms (B) into the ends of the Center Coupler (C) 
as shown. Narrow Spa and cover Installation Note: Flip the Support Arms (B) and insert 
the short side of the Support Arm (B) into the Center Coupler (C). Insert the shorter 
arms of the Support Arms (B) then into the Pivot Arms (A).  ENJOY YOUR NEW COVER LIFT!!

8. Press the decorative Large Black Dome Caps (L) over the heads 
of the 3/8” x 3” Hex Cap Bolts(L). Then press the decorative Small 
Black Dome Caps (M) over the heads of all exposed #10 screws (J 
and K). Note:A small amount of Glue/Epoxy will help secure screw/
bolt domes.

9. Attach the provided 3-Hook Towel Holder (I) on the 
preferred side of your cover lift by simply snapping it into 
place and inserting the middle Self-Tapping Screw (L).

Cover Support Arms

Coupler

Spa Front

9” to 15”

Rear Cover Clearance Required

Side 
Pivot Arm

Mounting 
Bracket

8” to 12” BracketInstall

H 
Washer

G 
3/8” Lock Nut

H 
Washer

D 
Bushing

A 
Pivot Arm

F 
3/8” x 3” Hex Cap Bolt

E 
Mounting Bracket

Large Dome Cap

Small Dome Cap

Towel Rack

Cover Hinge

Spa Front .5” 

Spa Cover

Hinge

Bracket 
mounts 
9” from 
edge of 
spa

Cover

Cover

1/2” ClearanceHinge to 1 ft.

4. Lay the Cover Lift on the Spa Cover. Adjust the Coupler Bars and Support Arms so
that the Coupler Bars are in parallel to the Spa cover hinge and about 1/2” behind the 
hinge.


